EARAROBEEIERT — 2 N— IBISH —F

2016518230 (+) 20m{£E3H

mM&KJ sC C2 #¥5%4mt B R
[AE4£] 1% :150,000  ~ 2% :3500MH  3%&:14,000”  437%:8,000H ~ 53 :5,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
3 RN o4 | WTHE 1:31.4 1-1-1-1 [39.0| -— 6 473 | KBEX (EH)
177l v—tovar 5.0 & Gy | BEEE
LewyAdyR B:FvyvTT7vT BRI 2V K
N > TRREIfE— :32. —5-5— . = KEFX (£8)
2 3 Framglyygy t> 8 o 1(352)3 5-5-5-4 | 39.5 1 (4_8;) PEEE g
L:2=/XLLy v B:zrFrFF [=[ok:tie
N LA : -4-4- - HEXE (5E)
ANEE IS ] [y | e |we] - s | e REAm e
R:ih—L BET7NZAT—H— =% e
i UL # 5 | BREE 1:32.9 2-2-2-2 | 40.4| — 2 507 | =/\EBEA ((£E)
4]5|5| =N 6.0 21/2) (3) |LEAY
RH TSN A— BT R tiE EBL
N R # o6 | WO 1:33.0 7-7-7-6 | 39.7| — 3 469 | ABHEX (1£R)
5 4 YA —/N=R 56.0 (1/2) (+6) LSS .
R:TwINEry b BIIZFU- J—HrTr—L
PN > 8 | EBIER® 1:33.1 6-6-6-8 | 40.1| — 4 486 | AR (1K)
618110 IT7H¥NF > g 56.0 (7€) ) R
RV KYIYRIR Bia— RKEx—L4 BAT 7 — L
e en + 4 | BERE -33. 5| — KIEHE (EE)
" BT R -
LT RIAYE—F BIIUFa—I whiE  EBA
N o4 | BER—ER 1:33.3 8-8-8-7 [39.9| — 9 482 | REM (£H)
8|7|8 HT=I 56.0 (1/2) L
B LINT Ry TR BRI ANTFR ZR77—L4
. = > 4 | BIES 1:33.4 3-3-3-5 |40.7| — 8 480 | REM (EH)
9|8|9| (FHHLIA T w0 3/4) C) | FREE—E
LHLTAN—F BFFI—RT Hro—t>
il — = — - - — BHEXE (£8)
% 6 J7 hOXIX bO 75 56.0 (B3%) ) EW; =
LA Lk—L B:rqrO—X THES
® 1—F—@EBIERL
1T=7r= 7,5,9,1,3,10,4,8,2
23— — 7,5,9,1,3,10,4,8,2
Ja=5= 7,5,9,1,3,10,4,8,2
43—+ — 7,5,1,3,9,4,8,10,2
[ N5
B 7 2,730 714K 3-7 720 e E 3-7 580 JEE 1-3-7 2,650M
B B 7 7401 1-7 3,820 B = 3-7 1,370M JEE 7-3-1 41,310
3 120M 1-3 400M B H 7-3 5,170
1 520M

ABICOVWTRDTEEERROODE. TR LIV,



